 Asagidaki tabloyu inceleyelim. Bosluklari érnekte verildigi gibi dolduralim.

1 kere 1, 1 eder.

Tx1=1

... kere ..., ... eder.
W X o =L

... kere ..., ... eder.
WX . =L

... kere ..., ... eder.
WX . =L

.. kere ..., ... eder.
WX . =L

.. kere ..., ... eder.
WX . =L

... kere ..., ... eder.
WX =L

... kere ..., ... eder.
WX o =L

... kere ..., ... eder.
WX o =L

... kere ..., ... eder.
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o Asagdaki carpma i§lemleriln5i§cpollm.
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" 5 « 7 x 2 x 9 x
J J J J J
Ixl=... 6x1=... Bx1=... Fxl=...
0x1=... 4x1=... Ox1=... I9x1=...
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